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PART A: Vocabulary

fhirections: Choose the word or phirase (1), (2), (3), or {4} that best completes each senfenice.
Then mark the correct choice on your answer sheet.

1-  The police only helieved me after an evewitness ----—---—- my account of the accident.
1) displayed 2) constituted 3) corroborated 4) suspected

2-  The plan is to our -—----—-- advantage; we will all henefit greatly from it.
[) concurrent 2) mutual 3) devoted 4y involved

3-  Our organization is committed to pursuing its aims through peaceful ---------- . We totally
reject violenee as a means of political change,
1) means 2) ingtruments 3) deviees 4) gadgcts

4-  All parents reecive a booklet which ---—--—--- the school’s aims and objectives before their
children start their first term.
1) clarilics 2) injeets 3) conducis 4) notilics

5-  Increasing the state pension is a -------—--- aim, but I don’t think the country can afford it.
1) redundant 2) diverse 3) flexible 43 laudable

6-  The primary aim in sumo wrestling is to knock your ------—-- right out of the ring!
1) protagonist 2) opponcint 3) releree 4) bencliciary

7-  The cost of the damage caused by the oil --—--——-- will be around 5200 million.
1) spill 2) guilt 3) demerit 4} extent

8-  Most of uy - when we hear that many children spend more time watching TV
than they spend in school. If's a rather scary thought.
1) withdraw 2) relredl 3) recoil 4) regress

9-  Ewven though he isn’t enrolled right now, Calvin says he will go to college —-————--- .
1) creatively 2) delicalely 3) sentimentally 4) cveniually

13-  You shonld aveid driving during the snowstorm because the icy roads are --—-——-—-,

1) supcrlicial 2) Irigid 3) perilous 47 cautious



PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or {(4) best fits each
space, Then mark the correcet choice on your answer sheel,

When it comes to visually identifving a work of art, there 1s noe single set of values or

aesthetic traits. A Baroque painting will not necessarily (11) ---—-------- much with a
contemporary performance piece, but they are both considered art.

(12} —===-mmeee—- th¢ scemingly indelimable nature ol art, there have always existed
certain formal guidelings for its acsthetic judgment and analysis, IFormalism is a concept
in art theory (13) —=--—-------- an artwork’s artistic value is determined solely by its form, or
the way (14) ——---————-. Formalism cvaluates works on a purcly visual level, (13) --——--
medium and compositional elements as opposed to any reference to realism, context, or
content.

11- 1) share 2) be sharing 3) have shared 4 be shared
12- 1) Although 2) Dcespite 3) Regardless 4) However
13- 1) that 2) that in it 3) which 4) in which
14- 1) of it made 2) made 3) how it is made 4y it is made
15- 1) arc considered 2) considers 3) considering 4) and consider

PART C: Reading Comprehension
Direetions: Read the following three passages and answer the questions by choosing the
hest choice (1}, (2), (3), or (4). Then mark the correct choice on vour answer sheef.

PASSAGE 1

Multicoat Systems. In most cases a single coat cannot satisty the manifold de-mands
regarding the decoralive appearance, the protective cllect, and the durability against
external influences. Several coating lilms arc therelore applied once on top ol the other.
Each laver is specially designed for a particular purpose. For instance a paint can be a
suitable primer for sheet if it adheres well to this substrate and provides good
protection against corrosion. The fact that it may become vellow under the influence of
light is of no consequence. The poor lightfatness of a primer is just as insignificant as
is the low gloss of a surlace layer. The surlace layver is designed Lo level oul the
unevenness of the substrate and should be sandable. Only the topcoat has to have a
high gloss, scratch resistance, and weathering stability, but it does not need to have the
special properties of the underlying layers.

The car body shecet is a sophisticated, high-guality composite matcerial with three to
[ive coating lavers on both sides. s mechanical strength, durability, and appcarance
are the resull ol optimal interaction and coordination ol sheet steel and coalings.
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Multicoat systems are satisfactory when —-—--——--,

1) a single laver is teo thin

2) they provide specific propertics on the surtace

3) they arc able to use in decorative appearance

4) they provide a good adhesion on the subsirale

The first properties expected from the primer are ------—--—--- 3
1) good adhesion and low gloss

2) good light tastness and low gloss

3) good adhesion and resistance against corrosion

4) good light [astness and resislance against corrosion

The properties of the top coat and inner layer —---—--—--—--,

1) are dillerent 2) are ihe same

3) depend on the type of coating 4) are the same but sometime are different
The top laver must have ---—--—-—-—,

1) very high adhesion on the substrate

2) very high gloss and good corrosion resistance

3) good corrosion resistance and weathering stability

4) different properties such as resistance against scratch
The coating yellowness is significant when - ;
I)it is considered as a primer

2) it is considered as a top coat

3) any vpe ol coaling 1s considered

4) it is used as an underlaying coat for a car body sheet

PASSAGE 2:

Combination of Alkyd Resins Other Binders. Alkyd resins can be combined in
many dillerenl ways with other paint raw alterials. In one method alkyd resins are
mixed with prefomulated products; this is normally carried out in the paint factory.
Alternatively. the reactivity of the initial products can be emploved to medify the
Alkyd resin during production.

Alkyd resing can be mixed with nitrocellulose, chlorinated rubber, highly
chlorinated poly (vinyl ¢chloride), amino resing, and colophony-modificd phenolic and
malcic resins. Chlorinated rubber and highly chlorinated poly (vinyl chloride), arc
combined with alkyd resins with the addition ol plasticizers lor corrosion proleciion
coatings. These combinations have a higher resistance to chemicals than pure alkyd
resin coatings, Combinations with amino resing are used in ovendrying industrial
coalings and automotive [nishes. The gloss., body, adhesion, and (he resistance 1o
preserving wax are delermined by the alkyd resin. Amino resins allow rapid drying at
elevated temperature and improve the mechanical resistance of the coatings.

Chemical-reactions with alkyd resins can take place via their hyvdroxyl or carboxyl
groups as well as via the double bonds of the unsaturated fatty acids. [socvanates,
epoxy resing, or colophony, for example, may be reacted with the hydroxyl groups.
The carboxyl groups can be reacted with polyvamideamines {rcaction products [ormed
[rom dimerized linoleie acid and cthylencediamine) to [ornn thixetropic resins, or can
react with hvdroxy-functional silicone precondensates. The double bonds of the
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unsaturated fatty acids permit copelymerization with vinyl compounds [e.g.. stvrene or
(meth) acryvlic acid derivatives].

Which of the following, according to the text, is correct?

1) Alkyd resins are only uscd in decorative paints.

2) Alkyd resins contlain amino group in their chemical structures.

3) Alkyd resins can be reacted with polyester resin in corrosien protection coatings.

4) Chlorinated rubber is one of the resin can be combined with alkyd resins.

In order to modify alkyd resinsg, it is possible to -——--—-——--—--,

1) using another resin such as isocyanale.

2) adding an adhcesion promoter such as plasticizer

3) reacting with another resin (o have resislance against chemicals.

4) considering antisettling agent in order not to be precipitated.

According to the passage, which sentence is True?

[} Combination of alkyd resin and amino resin at high temperature provide better
mechanical propertics.

2) Hydroxyl and amino groups in alkyd resin are responsible to have reaction with
other resins.

3) Different properties such as high gloss and impact resistance can be obtained using
alkyd resins.

4) lipoxy resin cannot be reacted with alkyd resins,

Alkyd resins containing different functional groups are --——---—---—--— ;

1) Hydroxyls and Carboxyls 2) Isocyantes and Carboxyls

3) Hydroxyls and Isocyanates 4) Vinyl Chlorids and Isocyanates

The reaction of Alkyd resin with other suitable resins are carried out through -----—-----—-,

1) Carboxyl groups and double bonds of the saturated fatty acid

2) [lydroxy] groups and double bonds ol the saturated [aity acid

3) Hydroxyl, Carboxyl groups and double bonds ol the saturaied latly acid

4) Hydroxyl, Carboxyl groups and double bonds of the unsaturated fatty acid

PASSAGE 3:

Organic pigmentls arc used o color and ¢ or cover a substrate. They have gained
unportance because the use of some inorganic pigments containing heavy metals has
been legally restricted.

Cirganic pigments have a high light absorption and a low scattering power, where as
inorganic pigments have a low light absorption and high scatlering power.
Combinations ol organic and Inorganic pigments are thercelore oficn advanlageous.
Organic pigments are therefore often advantageous. Organic pigments also have a
lower density and higher surface area than inorganic pigments; their color purity and
tinting strength are often higher. Organic pigments tend to dissolve at high temperature
and in binders and solvents {(migration).

Organic pigments may be lransparenl or opaque. Transparenl pigments are used in
glazes and in combination with inorganic pigments including special-ellect pigments.

The most important class of organic pigments in tenns of production are the azo
pigments, Other important pigments classes include metal-complex pigiments (e. 2.
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copper  phthalocyvanine) and higher polyeyelic compounds  (e.g, anthragquinone,
quinacridone,isoindolinone,and pervlene).

(Organic pigments are synthesized and then dried to form powders. The powder
consists of agglomerates ol pigment particles. Breaking up and incorporation of the
agglomerale in the paint (dispersion) are very imporiant because they determing the
appearance and [ilm propertics ol the pigmented paint laycr.

Lightfastiness and weather resistance are the most important properties of paint
pigments. The Organic pigments should be colorfast and stable towards radiation, heat,
and atmospheric substances. I'igments may also be partially responsible for
photochemical or thermal degradation of the binder which leads to deterioration of
optical film propertics (c.g. gloss)

Migration should not oceur when organic pigments are used in paints thal are
applied in differently colored layvers on top of each other. Resistance to migration
depends on the pigment. binder, and solvent.

‘The pigment should be heat siabhle because it may be subject to increasing
temperature during dispersion, stoving, or use.

Chemical resistance is required lor various arcas ol use (c.g., in aulomotive linighey
Lo resist car washes and baticry acids and washing machine coatings 1o resist detergent
solutions). Chemical resistance is also of imporiance in paint [onnulation il acids or
bases are emploved as catalysts or if an aqueous basic or acidic binder is used. Since
coatings are permeable to industrial gases (e.g., 50, and NO, }. The pigments must be

resistant 1o these gases that can alleel the colorlastness ol the pigment.

What are the differences between organic and inorganic pigments?

1) licht absorption, scattering power and their densities.

2) Densily and surlace tension arc lower in organic pigments.

3) Both of them are soluble in water but inseluble in organic solvent,

4) Scattering, density and higher retractive index for the organic pigments.
According to the passage, which sentence is Truc?

[} metal-complex pigment is an inorganic pigment.

2) Azo pigments could have lower density than inorganic pigments,

3) Mixture of organic and inorganic pigments are nol recommendcd.

4) Inorganic pigments have higher resistance in weathering condition than organic oncs.
Breaking up of the agglomerated pigments can provide --——-—-—-—-,

1) Hisher glaze and opacity.

2) increase viscosity and refractive index.

3) betier surlace propertics ol the coaling.

4) reduce insolubility of the pigment in solvent.

[f pigment are resistance to degradation, --—----—--—-—-,

1) the binder i1s deteriorated

2) the resin is not deteriorated

3) they cannol be weather resistance

4) they migraic so casily 1o the colored lavers in paints



30-  What cxpectation(s) of the pigment, is (are) important in paint?
1) colorfast, weather resistance and also resistance against permeation of industrial gases.
2) colorfast and its resistance toward chemicals.
3) the stability against heal during stoving.
43 its soluilon in a selvent.
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